b. 5x2 + 8xy – 2y2 + 4x – 3y + 10 = 0
A is 5, B is 8, and C is –2. Find the discriminant.
B2 – 4AC = 82 – 4(5)(-2) or 104.
The discriminant is greater than 0, so the conic is a hyperbola.
a. 2x2 + 6y2 – 8x + 12y – 2 = 0
A is 2, B is 0, and C is 6. Find the discriminant.
B2 – 4AC = 02 – 4(2)(6) or –48
The discriminant is less than 0, so the conic must be either a circle or an ellipse. Because A ≠ C, the conic is an ellipse.
Use the discriminant to identify each conic section.
Identify Conic Sections You can determine the type of conic when the equation for the conic is in general form, Ax2 + Bxy + Cy2 + Dx + Ey + F = 0. The discriminant, or B2 – 4AC, can be used to identify a conic when the equation is in general form.
Study Guide and Intervention

Hyperbolas
hyperbola
greater than 0
parabola
equal to 0
ellipse
less than 0; B ≠ 0 or A ≠ C
circle
less than 0; B = 0 and A = C
Conic Section
Discriminant
Lesson 7-3
Glencoe Precalculus
Chapter 7
17
8. 16x2 + 100x − 54y2 = −100
7. 25x2 + 100x − 54y = −200
6. x2 + 2xy + y2 + x + 10 = 0
5. 5x2 + 2xy + 4y2 + x + 2y + 17 = 0
4. x2 + 6xy + y2 – 2x + 1 = 0
3. –2x2 + 6xy + y2 – 4x – 5y + 2 = 0
2. 10x2 + 6y2 – x + 8y + 1 = 0
1. 4x2 + 4y2 – 2x – 9y + 1 = 0
c. 12x2 + 12xy + 3y2 – 7x + 2y – 6 = 0
A is 12, B is 12, and C is 3. Find the discriminant.
B2 – 4AC = 122 – 4(12)(3) or 0
The discriminant is 0, so the conic is a parabola.

Exercises
Use the discriminant to identify each conic section.
Example
(continued)
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